
Shrouds and Attaching Hardware
After 7/13/03



Shrouds and Attaching Hardware
After 7/13/03

Magic Black
Right Left Pair

1112825-NLA1112818-NLA
 

1112817-NLA
 See Note(s) A See Note(s) A

A - No longer available. Use 1112825 as its replacement. NOTE:

Dark Blue Pearl
Right Left Pair

1112823See Note1112811-NLA
 See Note(s) A

A - No longer available as a service part in the field. NOTE:

Candy Red Pearl
Right Left Pair

1112824-NLA1112806-NLA1112805-NLA



Shrouds and Attaching Hardware
After 7/13/03

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

See Chart #1  Side Shrouds Candy Red Pearl 1 11
See Chart #1  Side Shrouds Dark Blue Pearl 1 11
See Chart #1  Side Shrouds Magic Black 1 11
1025451 Screw, Slotted Hex Washer Head (#10-32 x 5/8") 1 82
1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 123
1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 44

1106366-NLA NLA - Plate, Shroud -Right 1 15
1106367-NLA NLA - Plate, Shroud -Left 1 15
1106343-NLA NLA - Hardware, Shroud, Side (1 Pair) 2 16 B
1109032-NLA NLA - Decal, Shroud - Pronto M71 1 17

1104797 Decal, Drive/Push 1 18
1108464-NLA NLA - Kit, Shroud Clamp Hardware - Right 1 19 C
1108465-NLA NLA - Kit, Shroud Clamp Hardware - Left 1 19 C
1109036-NLA NLA - Bracket, Clamp Shroud Mounting, Black -

Right
1 110

1109037-NLA NLA - Bracket, Clamp Shroud Mounting, Black - Left 1 110
1026907 Washer (1/4 x 1/2 x 1/16") 1 111
1025736 Locknut (1/4-20) 1 112

1109035-NLA NLA - Clamp, Shroud 1 113
1025713-NLA NLA - Screw, Hex Head (1/4-20 x 1") 1 114

1095489 Decal, Invacare 3-D Logo (2-1/2" L) 1 215
1117240 Screw, Thumb (#10-32 x 1/2") 1 416
1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 417

1123240-NLA NLA - Battery Shroud w/ Decal, Black - Rear 1 118 D
1118381-NLA NLA - Label, Warning Battery Terminal 1 119
1123237-NLA NLA - Battery Shroud with Decals, Black - Front 1 120 A

A - This shroud encompasses the controller as well as the batteries.  
B - Includes items 2-5  
C - Includes items 10-14  
D - This shroud encompasses the battery charger as well as the batteries.  

NOTE:

 


